GLASNIK MAT. - FIZ ASTR. Tom 20. -- No. 1-2 -- 1965.

THE GENERAL SOLUTION OF TWO FUNCTIONAL EQUATIONS BY REDUCTION TO FUNCTIONS ADDITIVE IN TWO VARIABLES AND WITH THE AID OF HAMEL BASES

János Aczél, Köln

In this paper we give the general solutions of two important functional equations with the aid of general antisymmetric resp. symmetric additive functions of two variables, wich are then represented with the aid of Hamel bases. It is remarkable, that though the second equation is one for an unknown function of one variable, still it leads to a functional equation for functions of two variables. This reflects the connection between norms and inner products.

1. S. Kurepa [15] (cf. also [22], [23], [24], [10]) has solved the functional equation for real functions

$$F(x + y, z) + F(x, y) = F(y, z) + F(x, y + z),$$
(1)

which is closely connected with the notion of the second homology group (cf. e. g. [21]) under differentiability suppositions. J. E r d δ s has proved in [5] that the general symmetric solution of (1) among functions with variables in an arbitrary abelian group and values in an arbitrary divisible abelian group is of the form

$$F(x, y) = f(x + y) - f(x) - f(y)$$
 (2)

and he reproduced in the same paper an argument of the present author which proves that, under continuity or weaker (say, boundedness) conditions, (2) is the most general solution of (1). Recently M. Hosszú [11] has proved, relying upon the above mentioned result of J. Erdős, that without any suppositions (except the above restrictions on domain and range) the general solution of (1) is

$$F(x, y) = f(x + y) - f(x) - f(y) + G(x, y), \qquad (3)$$

where G is an arbitrary antisymmetric function

$$G(x, y) = -G(y, x), \qquad (4)$$

which is additive in its single variables:

$$G(x + z, y) = G(x, y) + G(z, y)$$
 (5)

(the additivity in the other variable is a consequence of (4) and (5)).

Now we show that this last result follows also from our considerations published in [5] (and give then also explicitly, in the case of real functions, the general solution of (1)). For this purpose we repeat that argument: Define

$$G(x, y) = \frac{F(x, y) - F(y, x)}{2}.$$
 (6)

This is evidently an antisymmetric function (cf. (4)). In order to prove (5) we change the role of x and y in (1) and get

$$F(x + y, z) + F(y, x) = F(x, z) + F(y, x + z).$$
(7)

Similarly we change z and y in (1) and get

$$F(x + z, y) + F(x, z) = F(z, y) + F(x, y + z).$$
(8)

By subtracting (1) from the sum of (7) and (8) we obtain

$$F(x + z, y) - F(y, x + z) = F(x, y) - F(y, x) + F(z, y) - F(y, z),$$

which by (6) yields the equation (5) to be proved. On the other hand with F(x, y) also

$$H(x, y) = \frac{F(x, y) + F(y, x)}{2}$$
(9)

satisfies equation (1) and is symmetric, thus by the quoted result of J. Erdős [5] is of the form

$$H(x, y) = f(x + y) - f(x) - f(y).$$
(10)

(6), (9) and (10) show that, as asserted, every solution of (1) is of the form (3) while we have proved that also (4) and (5) hold.

On the other hand, (3) with (4) and (5) evidently always satisfies (1) ((3) always satisfies (1) even if G is only additive in both variables), which proves our above statement.

The statement just proved reduces the solution of the functional equation (1) to the pair of functional equations (4), (5). The question arises how to represent the general solution of the latter, at least for real functions. As G. Hamel [6] has proved, there exist subsets B of real numbers such that every real number x can be represented in a unique way as

$$x = \sum_{k=1}^{n} r_k b_k \tag{11}$$

with $b_k \in B$ and with rational coefficients r_k . Let the similar representation of y be

$$y = \sum_{j=1}^{m} s_j b_j \tag{12}$$

 $(b_j \in B, s_j \text{ rational})$ and take into consideration that (4) and (5) imply, as already mentioned, also

$$G(x, y_1 + y_2) = G(x, y_1) + G(x, y_2).$$
(13)

From (5) and (13) by induction

$$G\left(\sum_{k=1}^{n} x_{k}, y\right) = \sum_{k=1}^{n} G\left(x_{k}, y\right)$$
(14)

and

$$G(x, \sum_{k=1}^{n} y_k) = \sum_{k=1}^{n} G(x, y_k)$$
(15)

follow. Furthermore, with $x_1 = x_2 = \cdots = x_n = x, y_1 = y_2 = \cdots = y_n = y$

$$G(nx, y) = nG(x, y) = G(x, ny)$$

and for $t = -\frac{m}{n}x$, that is nt = mx,

$$nG(t, y) = G(nt, y) = G(mx, y) = mG(x, y)$$

or

$$G\left(\frac{m}{n}x,y\right) = \frac{m}{n}G(x,y).$$
 (16)

As (5) also implies (with z = 0)

$$G(0, y) = 0$$

and (with z = -x)

G(-x, y) = -G(x, y),

the equation (16) remains also valid for nonpositive integers m. The same argument applies to the second variable and so we have for all rational r and for all real x, y

$$G(rx, y) = rG(x, y) = G(x, ry)$$
. (17)

Now by (11), (14), (15) and (17), we have with

$$G(b_k, b_j) = a_{kj}:$$
⁽¹⁸⁾

$$G(x, y) = G\left(\sum_{k=1}^{n} r_{k} b_{k}, \sum_{j=1}^{m} s_{j} b_{j}\right) = \sum_{k=1}^{n} r_{k} G\left(b_{k}, \sum_{j=1}^{m} s_{j} b_{j}\right) =$$

= $\sum_{k=1}^{n} \sum_{j=1}^{m} r_{k} s_{j} G\left(b_{k}, b_{j}\right) = \sum_{k=1}^{n} \sum_{j=1}^{m} a_{kj} r_{k} s_{j}.$

So we have proved the following

Lemma. The general real solution of the pair (5), (13) of functional equations is

$$G(x, y) = \sum_{k, j} a_{kj} r_k s_j, \qquad (19)$$

where

$$x = \sum_{k} r_k b_k, \quad y = \sum_{j} s_j b_j,$$

the r_k , s_j being rational while the b_j are elements of a Hamel basis B and the a_{kj} arbitrarily depending upon b_k and b_j . In any of these sums only finite number of terms may be different from zero.

(The matrix a_{kj} is infinite, even not-countable, but in (19) only a finite segment of it figures.)

If we also take (4) into consideration, we get from (18)

$$a_{kj} = G(\mathbf{b}_k, \mathbf{b}_j) = - G(\mathbf{b}_j, \mathbf{b}_k) = - a_{jk}$$

and have thus the

Corollary 1. The general real solution of the pair (4), (5) of functional equations is

$$G(x, y) = \sum_{k, j} a_{kj} r_k s_j$$

where r_k , s_j are the rational coefficients figuring in (11), (12), while the a_{kj} are elements of an arbitrary antisymmetric matrix, depending upon the basis elements b_k , b_j figuring there.¹

If we compare this with (3), (4) and (5) we get the following Theorem 1. The general solution of

$$F(x + y, z) + F(x, y) = F(y, z) + F(x, y + z)$$
(1)

among functions defined on arbitrary abelian groups and with values in an arbitrary abelian group, where every equation nx = c has a unique solution x (n being a positive integer), is of the form

$$F(x, y) = f(x + y) - f(x) - f(y) + G(x, y)$$
(3)

with arbitrary f and with G fulfilling (4) and (5) or for real numbers explicitly with

$$G(x, y) = \sum_{k, j} a_{kj} r_k s_j,$$
$$x = \sum_{k} r_k b_k, \quad y = \sum_{j} s_j b_j$$

and the a_{kj} are elements of an arbitrary (antisymmetric) matrix, depending upon b_k and b_j (r_k , s_j rational, b_k , b_j elements of a Hamel basis).

(The theorem remains true both if we leave the matrix $|| a_{kj} ||$ arbitrary and if we state that it is antisymmetric.)

As there is no continuous function satisfying (4) and (5) except that identically 0 (as — for G continuous in x, (5) implies G(x, y) == c(y) x see [1] and cf. (17)), while (4) gives c(y) x = -c(x) y, thus $\frac{c(x)}{x} = -\frac{c(y)}{y} = \text{constant} = 0$), so we have also (cf. [5]) the

 $^{^{\}rm 1}$ In this sum as well as in other sums of this paper only finite number of terms may be \pm 0.

Corollary 2. The general continuous real solution of (1) is

$$F(x, y) = f(x + y) - f(x) - f(y)$$

with arbitrary continuous f.

The continuity condition can be considerably weakened (to boundedness, measurability, etc.).

2. The functional equation

$$g(x + y) + g(x - y) = 2g(x) + 2g(y)$$
 (20)

is very important as it serves in certain abstract spaces for the definition of the norm (resp. of the square of the norm). It was repeatedly examined ([12], [13], [26], [3], [7], [14], [8], [25], [16], [17], [9], [1], [18], [2], [4], [19], [20], [27]) and we will also make use here of some of these results.

In order to solve or reduce (20), we define a function H of two variables (this corresponds to the inner product) by

$$4H(x, y) = g(x + y) - g(x - y).$$
(20)

We first prove, that if g satisfies (20), then H is symmetric

$$H(x, y) = H(y, x),$$
 (22)

additive

$$H(x, y + z) = H(x, y) + H(x, z)$$
 (23)

and

$$g(x) = H(x, x).$$
(24)

We register some consequences of (20). By substituting y = 0, we get

$$g\left(0\right)=0\tag{25}$$

and, for x = 0,

$$g\left(--y\right) = g\left(y\right), \tag{26}$$

that is, g is even. Finally, with y = x, (20) gives

$$g(2x) = 4g(x)$$
. (27)

Now, from (26) we have (22); (24) follows from (27) and (25), while from (20) and (21) we have (23):

$$\begin{array}{l} 4H\left(x,\,y+z\right)=g\left(x+y+z\right)-g\left(x-y-z\right)=g\left(x+y+z\right)+\\ &+g\left(x+y-z\right)-g\left(x-z+y\right)-g\left(x-z-y\right)=\\ &=2g\left(x+y\right)+2g\left(z\right)-2g\left(x-z\right)-2g\left(y\right)=\\ &=g\left(x+y\right)+g\left(x+y\right)-2g\left(y\right)+2g\left(z\right)-\\ &-g\left(x-z\right)-g\left(x-z\right)=g\left(x+y\right)+2g\left(z\right)-\\ &-g\left(x-y\right)+g\left(x+z\right)-2g\left(x\right)-g\left(x-z\right)=\\ &=4H\left(x,\,y\right)+4H\left(x,\,z\right), \end{array}$$

as asserted.

69

On the other hand, (24) always satisfies (20), if H is additive in **both** variables:

$$g(x + y) + g(x - y) = H(x + y, x + y) + H(x - y, x - y) =$$

= H(x, x + y) + H(y, x + y) + H(x, x - y) - H(y, x - y) =
= H(x, x) + H(x, y) + H(y, x) + H(y, y) + H(x, x) - -
- H(x, y) - H(y, x) + H(y, y) = 2H(x, x) + 2H(y, y) =
= 2g(x) + 2g(y).

Thus, every function of the form (24) with H(x, y) additive in both variables satisfies the functional equation (20), but already (24) with symmetric additive H gives the general solution of (20) among the functions defined on abelian groups with values in abelian groups in which equations of the form 4x = c have unique solutions x.

Answering a problem raised by S. Kurepa at the Second Oberwolfach Symposium on Functional Equations [4], we give here the general real solution of (20). By the above Lemma, H being additive in both variables, has to be of the form

$$H(x, y) = \sum_{k=1}^{n} \sum_{j=1}^{m} a_{kj} r_{jk} s_{j} \quad (x = \sum_{k=1}^{n} r_{k} b_{k}, y = \sum_{j=1}^{m} s_{j} b_{j}),$$

where the r_k , s_j are rational while the b_j are elements of a Hamel basis B and the $a_{kj} = H(b_k, b_j)$ arbitrarily depending upon b_k and b_j . If H is symmetric, then

$$a_{kj} = H(b_k, b_j) = H(b_j, b_k) = a_{jk}$$

and we have similary to Corollary 1 the

Corollary 3. The most general real symmetric additive functions are of the form

$$H(x, y) = H\left(\sum_{k} r_k b_k, \sum_{j} s_j b_j\right) = \sum_{k, j} a_{kj} r_k s_j,$$

where the a_{kj} , are elements of an arbitrary symmetric matrix, depending upon the elements b_k , b_j of the Hamel basis B.

Summarizing, and taking (24) into consideration, we have the Theorem 2. The general solution of

$$g(x + y) + g(x - y) = 2g(x) + 2g(y)$$
(20)

among functions defined on arbitrary abelian groups and with values in an arbitrary abelian group, where every equation 4x = c has a unique solution x, is of the form

$$g(x) = H(x, x), \qquad (24)$$

where H fulfills (22) and (23) or for real numbers explicitly

$$g(x) = \sum_{k,j} a_{kj} r_k r_j, \qquad (28)$$
$$r = \sum_{k,j} r_k h_j$$

where

$$x = \sum_{k} r_k b_k$$

and the a_{kj} are elements of an arbitrary (symmetric) matrix, depending upon b_k and b_j (r_k , r_j rational, b_k , b_j elements of a Hamel basis).

(By methods of [18] the suppositions concerning the range of g might still be somewhat reduced.)

The general continuous real solution of (22) and (23) evidently is (cf. [17] or [1])

H(x y) = c x y

and so, by (24), we have the following

Corollary 4. The general continuous real solution of (20) is

$$g\left(x\right)=c\,x^{2}\,,$$

where c is an arbitrary constant.

Here again the continuity supposition can be considerably weakened. It is so much the more supprising, that although $cx^2 =$ $= a (bx)^2$, h(x) = bx being the general continuous real solution of the additive functional equation h(x + y) = h(x) + h(y), whose general real solution ([6]) is $h(x) = h\left(\sum_{k=1}^{n} r_k b_k\right) = \sum_{k=1}^{n} r_k h(b_k)$, the general real solution of (20) is not

$$g(x) = a \left(\sum_{k=1}^{n} r_{k} h(b_{k})\right)^{2} = \sum_{k,j=1}^{n} a h(b_{k}) h(b_{j}) r_{k} r_{j},$$

but (cf. (28)):

$$g(\mathbf{x}) = \sum_{k,j} H(\mathbf{b}_k, \mathbf{b}_j) r_k r_j.$$

The author is indebted to J. Erdős for some valuable remarks.

BIBLIOGRAPHY:

- J. Aczél, Vorlesungen über Funktionalgleichungen und ihre Anwendungen, Basel—Stuttgart—Berlin, 1961, §§ 2.1.1, 2.2.8, 2.3.2,
- [2] J. Aczél, E. Vincze, Über eine gemeinsame Verallgemeinerung zweier Funktionalgleichungen von Jensen, Publ. Math. Debrecen 10 (1963), 326-344,
- [3] H. Behrbohm, Über die Algebraizität eines elliptischen Funktionenkörpers, Nachr. Ges. Wiss. Göttingen (2) 1 (1934–1940), 131–134,

- [1] Derfeht über die 2. Tagung über Funktionalgleichungen in Oberwolfach, 7-11 Oktober 1963, Mathematisches Forschungsinstitut, Oberwolfach,
- [5] J. Erdős, A remark on the paper »On some functional equations« by S. Kurepa, Glasnik Mat.-Fiz. Astr. 14 (1959), 3-5,
- [6] G. Hamel, Eine Basis aller Zahlen und die unstetigen Lösungen der Funktionalgleichung f(x + y) = f(x) + f(y), Math. Ann. 60 (1905), 459-462,
- [7] H. Hasse, Zur Theorie der abstrakten elliptischen Funktionenkörper, Nachr. Ges. Wiss. Göttingen (2) 1 (1934–40), 120–129,
- [8] H. Hasse, Zur Theorie der abstrakten elliptischen Funktionenkörper III, J. Reine Angew. Math. 175 (1936), 193-208,
- [9] D. R. Henney, Quadratic set valued functions, Ark. Mat. 4 (1960-63), 377-378,
- [10] M. Hosszú, On a class of functional equations, Publ. Inst. Math. Beograd 3 (17) (1963), 53-55,
- [11] M. Hosszú, On a functional equation treated by S. Kurepa, Glasnik Mat.-Fiz. Astr. 18 (1963), 59-60,
- [12] J. L. W. V. Jensen, Om Fundamentalligningers Oplösning ven elementäre Midler, Tidsskr. Mat. (4) 2 (1878), 149–155,
- [13] J. L. W. V. Jensen, Om Lösning at Funktionalligninger med det mindste Maal af Forudsätninger, Mat. Tidsskr. B. 8 (1897), 25–28,
- [14] P. Jordan, J. von Neumann, On the inner products in linear metric spaces, Ann. Math. (2) 36 (1935), 719-823,
- [15] S. Kurepa, On some functional equations, Glasnik Mat.-Fiz. Astr. 11 (1956), 3-5,
- [16] S. Kurepa, Functional equations for invariants of a matrix, Glasnik Mat.-Fiz. Astr. 14 (1959), 97—113,
- [17] S. Kurepa, On the quadratic functional, Publ. Inst. Math. Acad. Serbe Sci. 13 (1959), 58-72,
- [18] S. Kurepa, On the functional equation $T_1(t + s) T_2(t s) = T_3(t) T_4(s)$, Publ. Inst. Math. Beograd 2 (16), (1962), 99–108,
- [19] S. Kurepa, The Cauchy functional equation and scalar product in vector spaces, Glasnik Mat.-Fiz. Astr. 19 (1964), 23-36,
- [20] S. Kurepa, Quadratic and sesquilinear functionals, to be published,
- [21] А. Г. Курош, Теория групп, Изд. второе, Москва, 1953, (English edition:

A. G. Kurosh, The theory of groups, Vol. II, New York, 1956, § 50),

- [22] D. S. Mitrinović, D. Ž. Doković, Sur une classe étendue d'équations fonctionnelles, C. R. Acad. Sci. Paris 252 (1961), 1717-1718,
- [23] D. S. Mitrinović, D. Ž. Doković, Sur certaines équations fonctionnelles, Publ. Elektrotehn. Fak. Ser. Mat. Fiz. Beograd, 1961, № 51-54, 9-18,
- [24] D. S. Mitrinović, D. Ž. Doković, Sur quelques équations fonctionelles, Publ. Inst. Math. Beograd 1 (15) (1961), 67-73,
- [25] L. J. Mordell, On an algebraic functional equation in the theory of the elliptic algebraic function fields, J. London Math. Soc. 11 (1936), 235-237,
- [26] A. Sykora, O rovnicich ukonovych, Časopis Pest. Mat. 33 (1904), 181-198,
- [27] F. Vajzović, On the functional equation $T_1(t+s) T_2(t-s) = T_3(t) T_4(s)$, Publ. Inst. Math. Beograd 4 (18) (1964), 21–27.

OPĆE RJEŠENJE DVIJU FUNKCIONALNIH JEDNADŽBI REDUKCIJOM NA FUNKCIJE ADITIVNE U DVIJE VARIJABLE I POMOĆU HAMELOVE BAZE

J. Aczél, Köln

Sadržaj

Autor dokazuje slijedeća dva teorema: Teorem 1. Opće rješenje funkcionalne jednadžbe

$$F(x+y,z) + F(x,y) = F(y,z) + F(x,y+z)$$
(1)

u skupu funkcija definiranih na proizvoljnoj Abelovoj grupi i s vrijednostima u Abelovoj grupi u kojoj je djeljenje s prirodnim brojevima definirano ima oblik

$$F(x, y) = f(x + y) - f(x) - f(y) + G(x, y), \qquad (3)$$

gdje je f proizvoljna funkcija, a G je antisimetrična i aditivna u obadvije varijable, tj. G zadovoljava (4), (5).

U slučaju da su spomenute grupe realni brojevi, G ima oblik (19), gdje je (a_{kj}) proizvoljna antisimetrična matrica s konačno elemenata različitih od nule u svakom retku i svakom stupcu, a a_{kj} je vrijednost funkcije G na paru elemenata Hamelove baze.

Teorem 2. Opće rješenje funkcionalne jednadžbe (20), gdje je g definirano na proizvoljnoj Abelovoj grupi s vrijednostima u Abelovoj grupi u kojoj je djeljenje s 2 izvedivo ima oblik g(x) == H(x, x), gdje je 2H(x, y) = g(x + y) - g(x) - g(y) simetrična i u obadvije varijable aditivna funkcija. U slučaju da su spomenute grupe realni brojevi, g je dano s (28) pomoću svojih vrijednosti a_{kj} na Hamelovoj bazi.

(Primljeno 4. XI 1964.)